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PRINCIPLES OF ACCOUNTING PAPER-II (COMMERCE GROUP) (OLD SCHEME)
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NOTE: - Write same question number -aZ//Ju”L/.J’/J;’£Cﬂ/‘/;7A/‘Ulr‘d‘;/d KL}LZ Y

and its part number on answer book, as given in the question paper.

SECTION-l s.»

2. Attempt any eight parts. 16=2x8 _“égj’a@uzéwﬁaéf ~24w
(i) Define Single Entry System. <§§4/U(b’/dfﬂdﬁ’ (i)
(i) Define Statement of Affair. -“é..é’/?d/:,ubwi?f (ii)
(iii) How Profit is calculated under Single Entry System? ?%tL//(Fé/évuﬁ(Vdeé’ (iii)
(iv) How credit sale is worked out in Single Entry System? ?‘L&lgd/pb”d:&JMﬂa;Lﬁ/deé’ (iv)
(v) What is meant by Net Worth Method of Single Entry System? ?+)ygg.@/£¢6,a£ﬁ’d;|f* (v)
(vi) Define Capital Funds. «5{4/‘7‘{;;% (vi)
(vii) Define Surplus in Non-trading Concern. ?La:ygc_f:ijliuﬁu;/b@/@f (vii)
(viii) What is meant by Admission Fee? ?‘L)’/gc'—(fiw) (viii)
(ix) What is meant by Subscription? ?LL)’/E-Q'—D/C?, (ix)
(x) What is meant by Non-Trading Concern? ?La:ygc;u:/b@/@f (x)
(xi) What is Income and Expenditure Account? ?‘Lt'ngalg’f.’/ﬁ’u)bn/’;f (xi)
(xii) What is Legacy? VLWVQL’:/% (xii)
3. Attempt any eight parts. 16=2x38 _élfutfié’]’/ Tedy 340y
(i) Define Consignee. «g.(..v/’d/.JU”/ (i)
(i) What is Outward Consignment? ?LLQ(J?JL&% (i)
(iii) What is Account Sale? ?LLVM&-(&3/':U/ (iii)
(iv) Define Abnormal Loss. -“ébg/?d/uw,}@! (iv)
(v) Pass entry of "Goods sent on Consignment". -“é@i/,cil{“bﬁi&n&fziégf/dh (v)
(vi) What is Del Credere Commission? ?‘L&ngf{,@uﬁ (vi)
(vii) What is Partnership Deed? ?+vn964w6f 15 (vii)
(viii) Define Minor Partner. _E e (iil)
(ix) What do you mean by Active Partner? ?‘L:'/gd/.;fc;/bﬁr); (ix)
(x) What is General Partnership? ?‘L&nlﬂjﬂ);ﬁ}df (x)
(xi) Write two demerits of Partnership. -é@blﬁué;@%&@ (xi)
(xii) Write any four points of Deed of Partnership. &galé‘/bc;&fé.://:'ub» (xii)
3. Attempt any nine parts. 18=2x9 -éxfutb’él]!ic_é:’/ -4 /le
(i) Explain term Amortization. -‘{..»Lnur A Lol (i)
(i) Define Depreciation. -ﬁf_f...y/’Jd/m/ (ii)
(iii) Write formula of depreciation under straight line method. -af.—“({f“ﬂnlét{dir}cfiffvgi (iii)
(iv) Write three causes of Depreciation. -4@93,&&@/’ (iv)
(v) Why Depreciation is considered revenue expenditure? ?Lét”tggf/?u{@iﬁyl.fgﬁr) (v)
(vi) Define term Depletion with reference to Natural Resources. -4{@ /7J ﬂﬁcW!LJVLJL}&/} (vi)
(vii) What is meant by scrap value of an Asset? ?Lé;l/gcogjlﬂfﬁt*igf( (vii)
(viii) Define Chartered Company. -jéhgfd/dﬂ/"/y (viii)
(ix) Define Debenture. -J.gfd/_ﬁ (ix)
(x) Who are Underwriters? St s dF (x)
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(xi) Define Professional Promoters. -ﬁf_f...;v }&f%{/}% (xi)
(xii) What is meant by issue of shares at discount? ?‘L;!/gfcizt/?&}%f‘) (xii)
(xiii) Define Memorandum of Association of Limited Company. -gﬁg}&a’ﬂ&fw (xiii)
SECTION-II (234
NOTE: - Attempt any three questions. 30=10x3 -“égfauzéamyuf}_éf oy
5. Aslam keeps his books under _q/(}” 2008 aguuﬁgﬁwuwﬂ)ﬁsgﬁ -LétlzqufJL(b’/djﬁU{‘/ﬁ 5
Single Entry System. From the following particulars ascertain his profit or loss for 2008:-
1.1.08 31.12.08
Rs. f: Rs. f: Particulars o
750 780 Cash 592
6300 7200 Bank —F
9600 10420 Stock Je
15000 18900 Debtors Loy &
14000 12000 Creditors SHESA
5000 7000 Bills payable !;Ui_.).be
25000 25000 Plant Lk
14000 14000 Furniture s

e P IG5 ol U e U § 10 L e e 1600 L L Je (i bk g
During the year, owner had withdrawn Rs.1600 for his personal use depreciate upon plant and furniture by 10 % p.a.

Make reserve of 5 % on Debtors.

> 314 62T O kL 40,0000 41 AL s 40001 - et L 80,000 Lt ST E 6
Lo QF B L gL U e TR P 6 psshor LI Fimlpl s B000)- —Yiess AUt s 90,000/-

6. On January 1st, Mr. Kaleem of Lahore consigned to Mr. Raheem -uf/kdyuﬁc;,ﬁ/d/fig/"/ «UZI)U@%!;.A;'LJ!
goods to the value of Rs.80,000/-. Paying freight charges as Rs.4000/- and draws a bill on Mr. Raheem for Rs.40,000/-.
3/4 of the consignment was sold by Mr. Raheem for Rs.90,000/- and expenses Rs.6000/- were incurred by Mr. Raheem.
He is entitled to a commossion of 6 % on sale. He remitted to Mr. Kaleem the net amount due by him by means a

Bank Draft. Show the ledger account in the book of Mr. Kaleem.

S T WIEFL e 50000 s 15 S L st LGNS e’ 312 22 bl -7
7. Yasin and Amin are partners sharing profit and loss in the ratio of 3 : 2 4{(#*@@,6&%@@&}5'
respectively. They admited Akhtar for 1/5 share of profit with Rs.50,000/- as capital. Calculate new profit and loss

sharing ratio among Yasin, Amin and Akhtar.
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8. A company issued 5 % debentures 1000 each @ Rs.100/- in the following ways:-
(i) Issued at par redeemable at par. (ii) Issued at 5% discount but redeemable at par
(iii) Issued at 5% discount but redeemable at 10% premium. (iv) Issued at 10% premium but redeemable at par.

(v) Issued at par but redeemable at 5% premium. Required:- Pass Journal Entries in each case.

SIS S B AL ae§ 20 Sr il a8 50,000 L zecll 2012 45 -9
9. On 1st January 2012 a merchant purchased a machinery costing Rs.50,000. It has been decided to
depreciate it at the rate of 20% p.a. on the diminishing balance method. Show the machinery account

for first five years.
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